”

o

===

I
T—I——

| I |
| I I I I | |
e Je Jr Jr Je g

|
]

”W:;

i
i

i

HHEH
S ssse

—]

T
===
—

| I I il I Il Il I |
—JrJr Jr JJr_Jur _Jt _J

?t
|

Il
Il

et e

N T;W I
iiiiiihﬁﬁFﬁiﬁﬁ

I [

I I
\ Il Il Il I I [ [ |
- J JrJr Jr Jr Jr Jr

Hﬂi@?fﬁ

W:ﬁﬁ:ﬁj

i

——————

| I Al I I I |
 Jr JrJr Jr Jur J

I

AL

16,530

s v m
e o B
el < R
2 N X
v/ﬁw N 1=
- e H
sgps 4L 0
uﬂlymm = =
c¥ N EE EE
1&@@1%AE%AD
gz E JE K
O [
11 pemg N
b &
o
#e
HE
=
£
(m\wrlawrlarla
X
g
]
~l ololo|lo|o
Hmmmmm
oe
S NEI N
[ PP 0 O e g
o lal < << <)<
BT e |e|e e
i ol g E g B
£l |ololelele
#e
HE
c
E
mOOOOoOOOOOOOOO
#X
i)
g
~lolo|lolo|lo|lolo
H%%%%%%%
oe
= N D
i3 i3 i3
2 el L L
o“ﬂﬂ1234567
NINININTNNAN
= || || | e |
4 e |«
% SlISHCICHEHCIC)

%7V Rix1[ (1,818mm)

AIW%EM$—»
slrh

A—IVEETEE FL/K S =1:100 (A3HROIES)

HRBR/
[ mENo.

=
X1/

B
Hm

EH/

/

/

DATE




